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Answer all the following questions:

1. The volume of a cylinder of the height 15 em and diameter 8 cm is equal to
1. 60mrem® 2. 240mcem® 3. 120mem® 4. 225mem?

2. For each m > n, where n and m are integer, which of the following is
always true \

1, =>< 2. mn>0 3. |m|>|n|
2 2

3. Themap f:N — N,with f(x)= 3x + 3,wh bﬁi atural number, is

1. Injective 2. Surjective 3. Bijec 4. Not Injective

4. Let X be the set of prime numbers be

nd 10, and Y be the set of even
numbers between 0 and 10, then X NY

11111

1. {12357 2. {2) (1,357} 4. {1,2)
5. 1 f(x) =e*™* then{(-z i€ équal to .
s 2 2. 3. 4 4, 2In2

6. The equation of thiefangent line to the graph of x = y* — 4y at (0,4) is ---

. y=:¥T4 2 y=d4x—; 3.y=4x—4 4 y=.x+4

7. limxcot5x =

x—0

1. 1 2. zero 3. % A 9 /
8. Odd functions are symmetric about

1. x-axis 2. y-axis 3. Origin 4. the point (1,1)

9. If 3x* — 8x + k = 0 has two equal roots, then k is equal to .....
1, X 2. 4 3. ¢ 4, —=

3 3 3
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10. If 3—215 <9 <2m and cosB = %, then sin © is equal to

5 13 5 13
L = Ze - = I = = 4. T
11.The inequality |2x — 6] < 1 is equivalent to

{ S<x<7 2 55%%<7 3 %-::x-::% 4.

12.If i is imaginary number , and z=i*+1i thé' is equal to
1. purelyreal 2. purely imaginary 3. 20 4, —=1+1

5 PVE(VE+ )i

1. Zero 2. 4

(s
S
0o |
N
pg | W

14.The value of Kk so that

to
1. 9 \—-4— 3. 4 4. Zero

15 The seventirterm in the expansion (2x —y)” is.
1.-'5,ﬁ>x2 y? 2. 672x7y* 3. 672x°y° 4. 672x*y°

16.1f zis 20% of 80, whatis 3% ofz
1. 0.048 2. 16 3. 0.16 4. 048

17 The value of k so that the function f(x) = x* — k x has critical point at x =
1is
1. 1 2 2 3. =3 4. 3
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Answer all the following questions:

-

A ball is released from a height H, if it takes T second to reach the ground at what height is the

N\

T
ball after {E) second will be.

H H 3H
1. 2 y % 3. T 4. No answer -

The work done to compress an ideal gas from volum I\Qtt 0 0.25 Litter at pressure of
2X10° N/m?,

1. 793 2.150)

A simple pendulum A of length 108 cmpand another simple pendulum B of length 400 ¢cm. The

eriod of B is.
s 3. 2:1 4.1:2

ratio between the periods of A to
B
1.4: 1 2.1:4

1 kg block slides with

kinetic energy decre

l.9mfs_b)

The change in linear momentum of an object is always in the same direction as the:

rm acceleration on a horizontal surface for 5.0 second. The block’s
rom 50 J to 32 J, during this time the average speed of the block is:
2.6m/s 3. 10 m/s 4. No answer

1. Velocity of the object 2. Displacement of the object

3. Average speed of the object 4. The average acceleration of the object

Which of the following wavelength of a light beam will free photoelectrons when the light
beam strike a metal surface which has a work function 5 ev. (hc=12400 ev.A")

1. 4960 A° 2.2480 A" 3.1240 A" 4. No answer A"

A particle travels at constant speed in circular path of radius R. If the particle makes one
complete tripe around the entire circle, what is the magnitude of the displacement for this
tripe.

1. 7R 2. 2nR 3. zero 4. No answer

For a negative point charge. The electric field vector

1. Circle the charge 2. Point radially toward the charge.

3. Point radially away from the charge 4. No answer
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9. Induced electric current due to changing magnetic flux can be explained by

3. Ampere’s Law 4. Ohm’s Law

1. Gauss’s Law 2. Faraday’s Law
r. The resulting image 4 times larger

10- An object is placed at 20 cm in front of a concave mirro

than the object, what is the distance of the image from the mirror.

4.40 cm

mly, if the for

1. 80 cm 2.50 cm 3, 60 cm

11- A person needs to accelerate an object upward unifor
e following ¢

S@ed by the person is
s true for the force?

F and the weight of the object is W. Which one of th
1.F=w 2.F< W 3.F>W 4. No Answer *

12- A radio station broadcasts its signal at frequency

station’s signal?
1.3 km 2.30m 3.30mm s

13- A proton moves in circular orbit i

circular orbit in the same magn ﬁl If both of them experiences the same magnetic force

during its motion, what is the ratié of the speed of the helium nucleus to the speed of the

N\

proton?
1. 4:1 2. 1:4 3.2:1 4.1:2
14- Three resisto of which has 3 ohm resistance. They are connected in series with a 12V
bntteufﬂyémage across each resistors is:
1.4V 2.2V 3.6V 4.3V

15- Two copper wires have the same cross-section area. Wire A is twice as long as wire B. There

are related by:
3. Ra=2Rs 4. No answer

1. R,ﬂFRB 2. Ra™ 4 Rp
g voltage source of frequency f. If the frequency of the

16- An Inductor is connected to alternatin

source is doubled, the inductive reactance of the inductor will

2. not change

4. increase by factor of 4

1. increase by factor of 2

3. decrease by factor of 2

17- At what frequency would the reactance of a 10.0 uF capacitor equal that of 1.0 mH inductor?

1. 2kHz 2. 1.59 kHz 3.3 KHz 4. no answer
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PART ONE: Reading Comprehension

Read the passage below and, then, answer the questions (35-41) that follow:

B‘hti'nns of

iguid can be kept in

an open container and fills it to the level of a free surface. A gas fo

to diffuse throughout the space available; it must therefore be kepf ina closed container or held

by a gravitation field, as in the case of a planet's atmosphere. T istinction was a prominent

feature of early theories describing the phases of matter.
In the nineteenth century, for example, one theo ntained that a liquid could be

vdissolved" in a vapor without losing its identity. And ther theory held that the two phases

are made up of different kinds of molecules: liqu and gasons. The theories now prevailing

take a quite different approach by empha izi:‘bg at liquids and gases have in common. They
are both forms of matter that have n& ent structure, and they both flow readily. They are

The difference between a liquid and a gas is obvious under the
temperature and pressure commonly found at the surface of the Earth.

fluids. .

The fundamental similar of ds and gases becomes clearly apparent when the
temperature and pressure ar ised somewhat. Suppose a closed container partially filled with
a liquid is heated. The liquid ands, or in other words becomes less dense; some of it
evaporates. In contrast, the r above the liquid surface becomes denser as the evaporated
molecules are added te.it¢ The combination of temperature and pressure at which the densities
become equal id"ﬁl{?ﬂhe critical point. Above the critical point the liquid and the gas can no

longer be disting ed: there is a single, undifferentiated fluid phase of uniform density.

1 - According to the passage, in the nineteenth century some scientists viewed liquidons and gasons as

1. fluids 2. hecavy molecules
3. different types of molecules 4. dissolving particles

3 - According to the passage, which of the following is the best definition of the critical point?

1. 'When the temperature and the pressure are raised 2. When the pressure and temperaturc arc combined

3. When the container explodes 4. 'When the densities of the two phases are equal

3 - It can be inferred from the passage that the gases of the Earth’s atmosphere are contained by :

1. a closed surface 2. the field of space
3. its critical point 4. the gravity of the planct
4 - Which of the following would be the most appropriate title for the passage?
1. The Properties of Gases and Liquids 2. The Beginnings of Modern Physics
3. New Containers for Fluids 4. High Temperature Zones on the Earth

5 - According to the passage, the difference between a liquid and a gas under normal conditions on Earth is tha
the liquid .

1. is affected by changes in pressure 2. forms a free surface

3. is considerably more common 4. has a permanent structure
6 - The word “it” in sentence 3 of paragraph 3 refers back to

1. the liquid surface 2. the liquid

3. the evaporated molecules 4. the vapor
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7~ According to the passage, what happens when the temperature is increased in a closed container holding a
liquid?

1. The liquid and gas phases become more similar. 2. The container expands.

3. The liquid evaporates out of the container. 4. The liquid and the gas ecome less dense.

PART TWO: Grammar & Vocabulary
Select the best answer for each of the items (42-50) in the following: .

8 - Many new buildings built in our town last vear.

1. had

2. we

3. did
9 - We thought they __ be late. .
1. would » 2. will
3. can 4. shall
10 - to transform means to . J "
1. build \ 2. make difficult
3. cross 4. change
11- _ fuel that is used is a chemical form of solar energy.
1. Mostof  * 2. Most
3. Almost the 4. The most
12 - He failed the test _____ he had studied hard.
1. inspite of 2. aswellas
3. although 4. because
13 - What are you doing? I __ reading a book.
1. was 2. is
3. have been 4. am
14- _ hecannot afford a car, he rides a bicycle.
1. Unless 2. Whereas
3. Because 4. Though
15 - Donald smokes. He _ for five years.
1. is smoking 2. has smoked
3. smoked 4. has been smoking
16 - Many modern architects insist on _____ materials native to the region that will blend into the surrounding
landscape.
1. use 2. the use

3. using 4. touse
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PART ONE: Reading Comprehension

Read the passage below and, then, answer the questions (35-41) that follow:

The difference between a liquid and a gas is obvious under the conditions of temperature
and pressure commonly found at the surface of the Earth. A liquid can be kept in an open containei
and fills it to the level of a free surface. A gas forms no free surface but to diffuse throughout
the space available; it must therefore be kept in a closed container or he a gravitation field, as
in the case of a planet's atmosphere. The distinction was a prominentigature of early theories
describing the phases of matter. )

In the nineteenth century, for example, one theory mai
"dissolved" in a vapor without losing its identity. And ano
made up of different kinds of molecules: liquidons and
quite different approach by emphasizing what liquids
forms of matter that have no permanent structure,

The fundamental similarity of liquid
temperature and pressure are raised some
liquid is heated. The liquid expands, o
In contrast, the vapor above the liqui
added to it. The combination of
called the critical point. Above

\Qined that a liquid could be

theory held that the two phases are

ns. The theories now prevailing take a

gases have in common. They are both

they both flow readily. They are fluids.

d.gases becomes clearly apparent when the

t. Suppose a closed container partially filled with a

er words becomes less dense; some of it evaporates.

hogg rface becomes denser as the evaporated molecules are
rature and pressure at which the densities become equal is

ritical point the liquid and the gas can no longer be

, undifferentiated fluid phase of uniform density.

distinguished; there is a si
1 - According to the p:!;o‘o;vhich of the following is the best definition of the critical point?

1.  When the densities of the two phases are equal 2. When the container explodes

3. When the temperature and the pressure are raised 4.  When the pressure and temperature are combined

2 - According to the passage, in the nineteenth century some scientists viewed liquidons and gasons as

1. dissolving particles 2. different types of molecules

3. fluids 4. heavy molecules

3 - The word “it” in sentence 3 of paragraph 3 refers back to

1. the vapor 2. the evaporated molecules
3. the liquid surface 4. the liquid

4 - According to the passage, what happens when the temperature is increased in a closed container holding a
liquid?
1. The liquid and the gas become less dense. 2. The liquid evaporates out of the container.

3. The liquid and gas phases become more similar. 4. The container expands.

5 - According to the passage, the difference between a liquid and a gas under normal conditions on Earth is that
the liquid ‘
1. has a permanent structure 2. is considerably more common

3. is affected by changes in pressure 4. forms a free surface
6 - It can be inferred from the passage that the gases of the Earth's atmosphere are contained by

1. the gravity of the planet 2. its critical point
3. aclosed surface 4. the field of space
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7 - Which of the following would be the most appropriate title for the passage?

1. High Temperature Zones on the Earth 2. New Containers for Fluids
3. The Properties of Gases and Liquids 4. The Beginnings of Modern Physics

PART TWO: Grammar & Vocabulary

Select the best answer for each of the items (42-50) in the following:

8 - Donald smokes. He for five years. g
1. has been smoking 2. 5mﬂl\d(
3. is smoking . oked
- fuel that is used today is a chemical form of solar e
1. The most " . Almost the
3. Mostof ;s 4 Most
10 - Many modern architects insist on m als native to the region that will blend into the surrounding
landscape. . "
1. touse \ 2. using
3. use . 4. the use

11 - to transform means to

1. change y 2. cross
3. build 4. make difficult
12 - What are you doing? I reading a book.
1. am 2. have been
3. was 4. s
13 - He failed the test _ he had studied hard.
1. because 2. although
3. inspite of 4. aswell as
14 - We thought they __ be late.
1. shall 2. can
3. would 4. will
15 - Many new buildings __ built in our town last year.
1. are 2. did
3. had 4. were
16-  he cannot afford a car, he rides a bicycle.
1. Though 2. Because

3. Unless 4. Whereas
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PART ONE: Reading Comprehension

Read the passage below and, then, answer the questions (35-41) that follow:

There are three different kinds of burns: first degree, second degree, and third degree. Each
type of burn requires a different type of medical treatment.

The least serious burn is the first degree burn. This burn causes the
not cause blistering. A mild sunburn is a good example of a first degr
sunburn, first degree burns generally do not require medical tredtme
of the burned skin with ice or cold tap water.

Second degree burns, on the other hand, do cause bli
immediately. These burns should be immersed in warm
dressing or bandage. (Do not apply butter or grease to e burns. Despite the old wives’ tale,
butter does not help burns heal but actually incre e chances of infection.) If a second degree
burn covers a large part of the body, then t v‘iptim should be taken to the hospital immediately foi
medical care. |

Third degree burns are those that'ch e skin and turn it black or burn so deeply that the skin
shows white. These burns usually res »m direct contact with flames and have a great chance of
urn victims should receive immediate hospital care. Burns
nd charred clothing should not be removed from the victim as it

may also remove the skin. IFpossible, a sterile dressing or bandage should be applied to burns
ed to the hospital.

before the victim is tg}ﬂ})
1 - A mild sunburn sh be treated by

to turn red but does
rn, and, like mild
other than a gentle cooling

\ng of the skin and should be treated
and then wrapped in a sterile

1. removing charred clothing 2. getting immediate medical attention
3. gently cooling the burned skin with cool water 4. immersing it in warm water and wrapping it in a ste
bandage
2 - Which of the following is NOT a recommended treatment for third degree burns?
1. Immerse in warm water. 2. Apply a sterile bandage.
3. Keep charred clothing on the victim. 4. Get immediate hospital care.

3 - The pronoun "it" in the first sentence of paragraph 4 refers back to

1. athird-degree burn 2. charred clothing
3. infection 4. the skin
4 - The phrase "old wives’ tale" in paragraph 3 could best be replacedby __ ?
1. good advice 2. ancient story
3. popular belief 4. lie
5 - The main idea of this passage is best expressed in which sentence?
1. Third degree burns are very serious. 2. Some burns require medical treatment.
3. Each type of burn requires a different type of 4. There are three different kinds of burns.
treatment.

6 - The word "serious" in the first sentence of paragraph 2 means

1. thoughtful 2. hard

3. dangerous 4. severe
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7 - Where in the passage does the author describe the characteristics of second-degree burns?

1. at the end of paragraph 2 2. atthe end of paragraph 3
3. at the beginning of paragraph 4 4. at the beginning of paragraph 3
—PART TWO: Grammar & Vocabulary | P—
Select the best answer for each of the items (42-50) in the following. \
8 - It looked dark and heavy it was going to rain. TR i
1. although
3. whereas
9-  vyourfriend like to watch TV in the evening?
1. do
3. has y
10 - Where ______ you going when I met you last night?
1. did . 2 2. are
3. do \ 4. were
11 - One of the least effective ways o ng information is learning __ it.
1. how repeat . Q)P 2. to repeat
3. repeat 4. repeating
12-We  never been to London.
1. had 2. have
3. are 4. were
13 - Jamal missed the neighborhood __ he had grown up.
1. in which 2. which
3. that 4. in where
14- _ migrate long distances is well documented.
1. That it is birds 2. Birds that
3. It is that birds 4. That birds
15-She __ tennis since she was eight.
1. has been playing 2. isplaying
3. played 4. plays

16 - to possess means to

1. be lawful 2. have
3. disobey 4. Jose
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1. A projectile leaves the ground at an angle "e" to the horizontal with a velocity of 250 m/sec.

If the maximum height reached by it is 550 m. The horizontal range wi

1- 4817 m. 2- 4818 m.

3- 4819 m. 4- None of them.
In the common base circuit, the emitter current is equal to A, the collector current is
equal to 45 p A, the emitter circuit resistance is equal \nhms and the collector resistance

is equal to 45 k ohm. Find the power amplification, fa

1- 3640. 2- 3645.
3- 3650. 4-_None
L]
The phase angle O is the angle between the i nsi'ty of the current and the potential difference
of the alternating source, it can b Mited from:
l-tan@=R_r.-Rec 2-tan@=(Rc+Rr)/R

3-tanE’.\=(Rc—F~lL)/R:;".II - 4- None of them.

\a difference in the angle between the intensity of the current and
en connected to the alternating current by:

2- 60°.

4- None of them.

the potential differenc
1- 45°.

3- 180 °. :>
.I
The elec otive force in the coil of the dynamo is maximum, when the angle of the rotation

5.
is:
1- 270°. 2- 180°.
3- 70°. 4- None of them
6. The intensity of the alternating current flowing in the capacitor at any time can be calculated
from the relation:
1- 1inst =1 minCOS O L. 2- linst =Imxtan ot
3- 1inst =1 max sin m t. 4- None of them
7. If three capacitors are connected in parallel. Therefore, the total capacitance will be:
- 1/C1+1/C2+1/C3 2+ C1+C€ 2% Cs,
3 Cr+La=La. 4- None of them
8. The classification of elements in the periodic table for group 3:
1- Selenium. 2- Sulphur.
3- Boron. 4- None of them
9. The number of coils in a cathode ray tube deflecting system is: .
- 8. 2- 6.
3- 3. 4- None of them
10. In the common emitter amplification process the difference in the phase angle between the

input signal and the output signal equals to:
1- 180" 2- 90°.
3- 60°. 4- None of them
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11. A student is having a weight of 600 N, he is using a ladder of 35 stai
stair is 15 cm during 15 seconds. Calculate the power of a student in t

1- 0.27. 2- 0.28.
3- 0.29. 4- None of them -

epower:

12. A car is moving in a horizontal way with a constant
equivalent to 2500 N. Calculate the power of a car, w

1- 500 kW. 2- 450 kW.

3- 400 kW. 4- .Nune

d of 720 km/hr. If the friction is
oring the resistance of the air:

13. The shorter wavelength in the Lyman series defined as:
- YA=1/®Rn)™" (I/ne2-1/ Z 2.2=Ru° (1/ns2-1m;i?d.
3- UA=Ru'(Imi?-1/nrs?. 4- None of them

calctilated from the relation:

2- 2T +(LC) %",
4- None of them

14. The resonant frequen
Y 2T XAC)*;
3- 1/ {211 x(LC) &}

15. The circujt that tliinges the modulated current into wireless waves is known as:
¢ circul 2- the oscillatory circuit.
3- the réceiving antenna circuit. 4- None of them

16. The light in a colour T.V, camera is divided into three basic colours by using special mirrors
and:
1- stereos. 2- rectifiers.
3- amplifiers. 4- None of them

17. To calculate the speed of the satellite and its continuation in the orbit from the relation:
- GXME. 2- (GxMEg/r)"%.
3-(GxMg/r) " 4- None of them

the height of each
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2. ify=In(x*+1) Then atx=1 |,

1-
L

1-
p

3. lim

x-+=1

]-
g P

ALY A8 g B ALYl Aaldl) o ilall JUB 3 Assaal) Agtal) LEAL A0 ALY JS oo caal

1.—if x*+y?=9 then 2 =

dx

—X

y
3-X-y

In2

l
x?—3x—4
x+1
-5
o

o oy

4. conjugate of V-1 —3 ‘s\' "

- 143

2- —/-1-3,
s (s

I P

2- -2

2x_

6. _[: :,_: dx =

- e*-9

2- 43

7. the set of solutions of X*-X-6=0 is

132

6 5
8. log-+log_——log—+logl2 =

- [2,3]
2- 12,3
1- ]ng%%
2- log1l

9. y=xe*= -’E =
1-  e*(1+x)
2- e'x

10. focus of parabola X*=12y is

1=
2=

(6,0)
(0,3)

2- —J=1+3
4- 3-+-1

2- -6
4- -8

2- e+3

4- et2

2. [3,2)

4- ]-3,2

23 12

2- ]Dg; o Iﬂgﬁ

4- lngi —log1

2-  ]+ef
4- xe'+x
2-  (0,6)
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12.p@) =2,p0) =3, P@b)=1/3=p@ub)= . />
I- 11/5 2- 1
2- 2/5 4-

13. plane intersecting one of two parallel lines..... e other intersecting
1- parallel to ’ - contains
2- intersecting P 4- not

14. Rectangle its area 18, Length is twi€e width. Then its perimeter is
- 18 "NS e 2- 12
2- 24 \ 4 9

15. Two no. sum of sq 97, difference of squares 65
l- (917) 2~ (816)
2- (8, 4- (94)

16. Five books to be put on shelf. How many ways to choose the first then the last
1- 5 2- 10
2- 20 4- 15

17. domain of f(x)=V9 —x? is
1- (9,9 2-  [-3.3]

2: (33) 4-  [9,-9]
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PART ONE: Reading Comprehension

Read the passage below and, then, answer the questions (35-41) that follow:

——r—

There are three different kinds of burns: first degree, second degree, athiﬁ":l degree.
Each type of burn requires a different type of medical treatment.

The least serious burn is the first degree burn. This burn causes the
does not cause blistering. A mild sunburn is a good example of a first
mild sunburn, first degree burns generally do not require medical
cooling of the burned skin with ice or cold tap water.

Second degree burns, on the other hand, do caus
treated immediately. These burns should be immersed |
sterile dressing or bandage. (Do not apply butter or gregse to these burns. Despite the old
wives' tale, butter does not help burns heal but ac y'increases the chances of infection.) If a
second degree burn covers a large part of the body, then the victim should be taken to the
hospital immediately for medical care.

Third degree burns are those that ch e skin and turn it black or burn so deeply that the
skin shows white. These burns usuallyrésult from direct contact with flames and have a great
chance of becoming infected. Alhthird degree burn victims should receive immediate hospital
care. Burns should not be imm d in water, and charred clothing should not be removed
from the victim as it may a ove the skin. If possible, a sterile dressing or bandage should
e victim is transported to the hospital

be applied to burns bef
1 -The word " serinu.s the first sentence of paragraph 2 means

1. thoughtful 2. hard

3. dangerous 4. severe

to turn red but
gree burn, and, like
ent other than a gentle

ing of the skin and should be
rm water and then wrapped in a

2 - A mild sunburn should be treated by

1. removing charred clothing 2. getting immediate medical attention
3. gently cooling the burned skin with cool water 4. immersing it in warm water and wrapping it in a ste
bandage
3 - Where in the passage does the author describe the characteristics of second-degree burns?
1. at the end of paragraph 2 2. atthe end of paragraph 3
3. at the beginning of paragraph 4 4. at the beginning of paragraph 3
4 - Which of the following is NOT a recommended treatment for third degree burns?
1. Immerse in warm water. 2. Apply a sterile bandage.
3. Keep charred clothing on the victim. 4. Get immediate hospital care.
5 - The phrase "old wives’ tale" in paragraph 3 could best be replacedby _____ 7
1. good advice 2. ancient story
3. popular belief 4. lic

6 - The pronoun "it" in the first sentence of paragraph 4 refers back to

1. athird-degree burn 2. charred clothing
3. infection 4. theskin
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7 - The main idea of this passage is best expressed in which sentence?

1. Third degree bumns are very serious.
3. Each type of burn requires a different type of

2. Some burns require medical treatment.
4. There are three different kinds of burns.

treatment.

PART TWO: Grammar & Vocabulary
Select the best answer for each of the items (42-50) in the following:

8 - Where you going when I met you last night?

1. did
3. do

9 - It looked dark and heavy it was goingtor

1. although
3. whereas

10 - We never been to Lnndnq.\ ®

1. had
3- drec

11 - migrate lnng

1. Thatit s birc 2. Birds that

3. [Itis that birds 4. That birds
12 - Jamal missed the neighborhood _____ he had grown up.

1. in which 2. which

3. that 4. inwhere
13 - One of the least effective ways of storing information is learning it

1. how repeat 2. torepeat

3. repeat 4. repeating
14 - to possess means (o

1. be lawful 2. have

3. disobey 4. lose
15-She  tennis since she was eight.

1. has been playing 2. isplaying

3. played 4. plays
16- ___ vyour friend like to watch TV in the evening?

1. do 2. is

3. has 4. does

5 &

asif
unless

have

WEre

N\
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SECTION 1: READING COMPREHENSION

M@g&s age and, then, answer the questions that follow:
Many preat inventions are mitially greeted with ridicule and disb ‘hednventi

[ laughter. dea ¢ ‘:; an arrcraft was repulsive to some people.
Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools. Negative
reactions, however. did not stop the Wrights. Impelled O s | ;T

expenments in aviahon.

Orville and Wilbur Wright had always ascompeling interest in asronautics and mechanics. As young
boys they eamed money by making and selling kites and mechanical toys. Later, they designed a newspaper-

folding machine, built a printing press, andyopsfated a bicycle-repair shop. In 1896, when they read about the
= =ath of Otto Lilienthal, the brothe

S, terest in hlght grew into a compulsion.
Liienthal, a pioneer in '_ dmg, had controlled his gliders by shifting his body in the desired
direction. This idea was re

oelleptto’ the Wright brothers, however, and they searched for more efficient
methods to control the balag
developed control teft niqy

_ zof airborne vehicles. Tn 1900 and 1901, the Wrights tested numerous ghders and
hniq i€s. The brothers' inability to obtain enough lift power for the gliders almost led them
to abandon their efforts”

After further study, the Wright brothers concluded that the published tables of air pressure on curved
surfaces must be wrong. They set up a wind tunnel and began a series of experiments with model Wwings.
Becanse of their efforts, the old tables were repealed in tme and replaced by the first reliable figures for air
pressure on curved surfaces. This work, in turn, made it possible for the brothers to design a machine that would
fly. In 1903 the Wrights built their first arplane, which cost less than $1.000. They even designed and built their

own source of propulsion-a lightweight gasoline enpine. When they started the engine on December 17. the

arrplane pulsated wildly before taking off. The plane managed to stay aloft for 12 seconds, however, and it flew
120 feet.

By 1905, the Wrights had perfected the first arplane that conld turn, circle, and remain airborne for half

- "n hour at a time. Others had flown in balloons and hang gliders, but the Wright brothers were the first to build a

wll-size machine that could fly under its own power. As the contributors of one of the most outstanding
engineering achievements in mistory, the Wright brothers are accurately called the fathers of aviation.

1 - The Wrights' interest in flight grew into a/an

(A) unimportant thing (B) financial crisis

(C) obligation (D) foolish thought
2 - The pronoun ' their’ ( paragraph 1 line 5) refers to

(A) reactions (B) fools

(C) Wrights I (D) people

3 - Though liked by many people, the idea of flying an aircraft was
others.

(A) boring (B) distasteful
(C) exciling (D) out-dated
4 - The word ' efficient ' ( paragraph 3 line 2) most nearly means :
(A) expensive = | . - (B) inactiye
(C) destructive (D) effective

e S W —
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: S = The old tables were and replaced by the flrstreuable figures for air
B —————— \ J
pressure on curved s urfaces, vy .
(A) destroyed (B) invalidated” / ,
(C) multiplied (D) approvess -1
G - People thought that the Wright brothers had l
(A) acted without thinking (B)éen negatively influenced
(C) been too cautious . (DYbeen mistaken
SECTION II: VOCABULARY O
Choose the item which is closest in meaning o the word between the mmverted commas
7 - The rays from the rising sun shlned qu:iendldly through our kitchen window.
A) quickly (B) slowly
(C) badly N (D) wonderfully
8 - Dad had no need for the broken air conditioner, so he "discarded" it on the corner by the
trash. «
(A) look after (B) throw away
(D) get back
Because he had such good friends and family, Jack considered himself "fortunate™.
(B) slowly
(D) lucky
effects on our life .
(A) wonderful (B) harmful
(C) precious (D) useful
SECTION [ll: STRUCTURE: Choose the best answer
o K TR O has been here for months.
(A) Ali and Ahmed (B) These women
(C) Their car (D) You
12 -Dinner coouveeervnennnn early last night ?
(A) cooked (B) was cooking
(C) was cooked (D) will cook
13 -When | went to bed last night, | was tired because l coovveveveo for a long time.
(A) was working (B) have been working
(C) work B (D) had been working
14 -Harriet c....covvveeneecee longer in Vienna if she had more time.
(A) had stayed (B) would stay
(C) will stay (D) Has stayed
15 - I trusted him but then he
(A) saw me off (B) let me down |
- (C) put me.up B i e — - - (D) get me everything
. 16 - Did she do her duty? The passive form of this sentence is _—
(A) Did her duty done? (B) Was she doing her duty?
(C) Was her duty done? (D) Is her duly done?
|
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English Entrance Exam

Select the best answer (A, 8, Cor D) for each of the questiol
your answers in the answer page.

o

“ART ONE: Reading Comorehension:

Read the following Rdssage and, then, answe estions (35-41) that foilow:

. "I-"" :ﬂ -~ '."l‘ "-
ngh; e « 40N Ol

7vsicists have had different ideas about how

hheht hehavee Eire P \E ' ’ .
AR Denaves. First c Siream ot }'}LE.I'ILCIC‘S. Ls.i[':l”, otirers opserved that
‘:il..‘!.,+., ‘e 19172 A o NS = . |

d2at acts [1Xe a wave Li4hrough a vacuum. such as outer space. Most recently.
.l . | -

It 15 a combination of both,

J ";:..ir" - ' T S i d 141 ‘ R |
12 \:i.n ject emuts fight, reflects light like a MIITOr, Or changes light
€0 1. WSk most things by retlection. Wh

en you look at vour car, what you
d from the car. How much light is reflected depends on the surface
A SMOoth White c11vfama wafl . e 1ot s B e Yy “
A smooth white Surtace retlects more lightthan a rough black one. On a
- e angle at which light hits 1T 18 the san

2 1C same as the angie at which it is
a rough surface, these anolec -

~ L :"I"" = . -
o dI'C QIirigrant Hecan

i

S¢ e suriface scatters the ..

T_-' Eif 1\ :-l S T--“n":l"‘ "'I! 1.'-" - .- - QXS . .""'“' s - ey ¥ . . ,-' ' . . -
g ©S 0enc when they pass from one transparent medium tw another. This effect is
ﬂalIed “;i-‘_aﬁr: ¢ ‘(T] ni‘ M ' _‘ﬂ 'I. 4 [ 1 L' 23 E TN sy % "% " - -

y OO 1 H'I-":'..ﬂ : . POy ™ "*rr -~ v 4 - - g
= taat retract light exactly, There are WO types of [enses. A

] \atr
convex lens is thicker in the r iddle than at the edoec - . . .. -
ens s thicker i [middie than at the edges and can make objects look larver A
ver, .

maxes objects look smaller

—

concave lens is thinner in the middle than at the edees and

35. What is the main idea of the passage?

A. energy of light B

_ _E. refraction of light
;_f;._use of light in lenses

F-

D. nature of light

6. The word " others" in the first paragraph refers back to:

_A. particles B. ideas
C.vyears D. pnysicists '
7. The word " theorv" in the first caragraph means ‘
¢
A. scientist 8. idex :
C. story D. physicist /
33. The quantum theory specified that thae-behavior of light is similar to I
o
A. @ wave traveling through a space B. aform of energy !
C. 2 stream of elements D. answers in both "A" anc "C"
38. The word " scatters" in the second paragraph means:
A, throws B, collects T
C. gathers D. stores

. & T e i L R R ——h e _§
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40. An object reflects more light when its surface is

LA L AR R

’

A Smooth and whise

| | - B, smooth anc blagk
ro .
. = TOUgA anc black D. rough and whi \

Jads "hny make

o TN ] T
S in bhoth 47 anc B"

tanswer for each of the items (42-50) i

L. must have _I_)_ '-..;-.fas

. &7.The opposite of the word "polite" is ....... N

. _A, sad - ¥ B. ugly
_E;bﬁd 0. rude

L &8. Air ...... ca uses many health probiems to peoplef

I _A. poliuted | B. poliute
C. polluting _D. poliution

I 48. These apples ...... in the morning, so they should he fresh.

_A. were brought B, brouaht ,
s L. was brought D. are brougns :
-""'“f_" _— |

__*50. e 00 Many students in this room.

A There’re _B.There's '
C. They' _
C. hey're D. There

END QUESTTONS
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